RETAN 1 XA WBW3 02

1. XOGERZMT. (SH17, Atk2r, Bikdsr, Cik67)

(1) % =-15 (2) 120-3z=48—=x
(3)  05(z+2)—02(z—5) =98 (4) 3964*4 — 4 4933*5
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2. ROFGBRZMF. (SH14, A2, Bik4sr, C#64)

1 -E=-14 (2) 120-2z=84+=z

£
3

(3)  07(z+5)—03(x—3)=96 (4 Tet+4 _, 10z-5
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RETFAN 1XABK WBW3 02 BRERH

1. XOGERZMT. (SH17, Atk2r, Bikdsr, Cik67)

(1) % =-15 (2) 120-3z=48—=z
100 = —45 <—Tljd x 30 —3z+x = 48-120 %14
—2x = =72
9
r = —
2
x = 36
YRR = —45
(3)  05(x+2)—02(z—5) =98 (4) 33?4— 4 _ 4 4”33— 5
5(x+2) -2z -5 = 98 iz x 10 3(3z —4) = 48 —4(4x —5) —fjad x 12
504+10—2z+10 = 98 =25 9r —12 = 48— 16z +20 —2hH
3z = 98—-10—10 <« 9z + 16 = 48 +20+12
3r = T8 25z = 80
x = 26 z — 16
5
DAY=

(YHNETI0659 2 £ /80T 100 51 >TLE ).
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2. ROFGBRZMF. (SH14, A2, Bik4sr, C#64)

(1) —%:—1.4 (2) 120-22=84+z
—10z = —42 <~ x 30 —2x—x = 84-120 <IH
—3z = -36
21
T = —_—
5
x = 12
el =42
(3)  0.7(x+5)—0.3(x—3) = 9.6 (4) 75”;4:4—105”4_5
T(x+5)—3x—3) = 96 <Mjd x 10 2(7Tx+4) = 48 —3(10x —5) <l x 12
Tt+35—-3z+9 = 96 —h%BH 14x+8 = 48 —30x+15 5
dr = 96—-35—9  <HIH 142 +30x = 48+15-38
4 = 52
44r = 55
z = 13 r = 2
4
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